EXAMEN 10 - VOCABULARIO
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Choose the correct answer:

1. It's very simple to open a bank [current/out of/account/income] in Britain.
2. Alice borrowed 10€ [out of/from/crossed/income] her mother.
3. George took 200€ [out of/account/current/from] his bank.

4. Alice and George spend more money than they receive. In other words their
[withdraw/withdrawal/current/expenditure] is greater than their
[from/income/current/crossed] .

5.1 prefer a [crossed/expenditure/current/account] account to a deposit account.
6. Most cheques are [current/crossed/from/income] cheques, which means that no
one else can [income/crossed/cash/current] them.

7. A deposit account earns no interest but it's not so easy to
[from/expenditure/withdrawal/withdraw] the money.

8. A deposit is the money you put in. But a
[withdraw/expenditure/withdrawal/from] is the money you take out.
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